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ỹ
‖ ∞

D
er

B
a
n

a
ch

sc
h

e
F
ix

p
u

n
k
ts

a
tz

b
es

a
g
t

je
tz

t

∃!
y
∈
B̃

:
F
(y
)
=
y

a
ls

o
y
∈
C
([
x
0
−
δ
,x

0
+
δ
]
→
B
)

u
n

d
a
u

s
F
(y
)
=
y

er
g
ib

t
si

ch

y
0
+
∫ x x

0

f
(ξ
,y
(ξ
))
d
ξ
=
y
(x
)

�

D
ie

Ä
q

u
iv

a
le

n
z

z
u

r
u

rs
p

rü
n

g
li

ch
en

D
G

L
li

ef
er

t
so

m
it

d
en

B
ew

ei
s

d
a
fü

r,
d

a
ss

d
ie

L
ö
su

n
g

ei
n

d
eu

ti
g

is
t.

�

3
.4

L
in

e
a
re

D
iff

e
re

n
ti

a
lg

le
ic

h
u

n
g
e
n

4
.1

D
e
fi

n
it

io
n

S
ei
I
⊂
R

ei
n

In
te

rv
a

ll
,
A
∈
C
(I
→
R
n
2

),
g
∈
C
(I
→
R
n
).

D
ie

D
iff

er
en

ti
a

lg
le

i-

ch
u

n
g y

′
=
A
(x
)y
+
g
(x
)

︸
︷︷

︸
=
R
(y
)

fü
r

d
ie

U
n

b
ek

a
n

n
te
y
∈
C
1
(I
→
R
)

h
ei

ß
t

li
n

ea
re

s
Sy

st
em

1
.
O

rd
n

u
n

g
.
F
ü

r
g
=
0

n
en

n
en

w
ir

es
h

o
m

o
g
en

,
so

n
st

in
h

o
m

o
g
en

.
⋊

1
2
8

∣ ∣ ∣ ∣ ∣

F
u

n
k

t
io

n
e
n

t
h

e
o

r
ie

∣ ∣ ∣ ∣ ∣
1

2
.)

S
ei
f

:
O
→
Õ
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Ñ
δ

|z
−
z
n |=

|ϕ
(y
)−
ϕ
(x
n
)|

5.
≤
c|y

−
x
n |

4
.
<
δ2

fü
r
n
>
˜̃N
δ

⊸

u
n

d
so

m
it

|r
(z
,z

0 )|
<
ε|z

−
z
0 |

5.
≤
√
2
c
ε2
n
L
(γ

0 )
,
z
,z
0 ∈

ϕ
(R
n
)

2
0

∣∣∣∣∣



2
.8

∣ ∣ ∣ ∣ ∣
R

e
c

h
n

e
n

m
it

D
if

f
e
r

e
n

t
ia

l
f
o

r
m

e
n

2
.)

S
ei
ω
1

ei
n

e
k

-F
o
rm

u
n

d
ω
2

ei
n

e
l-

F
o
rm

,
je

w
ei

ls
d

er
K

la
ss

e
C
1
.

D
a

n
n

g
il
t

d
ie

P
ro

-

d
u

k
tr

eg
el

:

d
(ω

1
∧
ω
2
)
=

d
ω
1
∧
ω
2
+
(−
1
)k
ω
1
∧
ω
2

3
.)

Is
t
ω

v
o
n

d
er

K
la

ss
e
C
2
,
so

g
il
t

d
ie

P
o
in

ca
re

-I
d

en
ti

tä
t:

d
2
ω
=

d
(d
ω
)
=
0

B
e
w

e
is

1
.)

N
a
ch

re
ch

n
en

2
.)

Se
i
ω
1
=
a
(x
)d
x
I
,
ω
2
=
b
(x
)d
x
J
,

a
ls

o
ω
1
∧
ω
2
=
(a
(x
)b
(x
))

d
x
I
∧

d
x
J
,

m
it

I
∈
G
(k
)

u
n

d
J
∈
G
(l
)
.

3
.)

D
a
ra

u
s

fo
lg

t:

d
(ω

1
∧
ω
2
)
=
d
(a
(x
)b
(x
))
∧
d
x
J
∧
d
x
J

=
n ∑ i=
1

(δ
x
i
(a
·b
)d
x
i
∧
d
x
J
∧
d
J

=
b

n ∑ i=
1

(δ
x
i
a
)d
x
i
∧
d
x
J
∧
d
x
J
+
a

n ∑ i=
1

(δ
x
i
b
)
d
x
i
∧
d
x
J

︸
︷︷

︸
=
(−
1
)k
d
x
J
∧
d
x
i

∧
d
x
J

D
ef

./
1
-P

ro
d

u
k
t

=
(
n ∑ i=
1

(δ
x
i
b
)d
x
i
∧
d
x
J
)
∧
b
d
x
J
+
(−
1
)k
a
d
x
J
∧
(
n ∑ i=
1

(δ
x
i
b
)d
x
i
∧
d
x

=
d
ω
1
∧
ω
2
+
(−
1
)k
ω
1
∧
d
ω
2

4
.)

a
.)

F
a
ll

:
ω
=
f
∈
C
2
(O

→
R
)

is
t
O

-F
o
rm

.
D

a
n

n
fo

lg
t
d
ω
=
∑
n i=
1
(δ
x
i
f
)d
x
i

d
(d
ω
)
=

n ∑ i=
1

(δ
x
i
f
)
∧
d
x
i

=
n ∑ i=
1

n ∑ j
=
1

δ
x
j
(δ
x
j
f
)

︸
︷︷

︸
=
δ
x
i
(δ
x
j
f
)

d
x
j
∧
d
x
i
=
0

H
ie

rb
ei

k
o
m

m
t

je
d

er
Su

m
m

a
n

d
ei

n
M

a
l
m

it
p

lu
s

u
n

d
ei

n
M

a
l

m
it

m
in

u
s

v
o
r.

B
ea

ch
te

,
d

a
ss

d
x
j
∧
d
x
i
=

  0
,

fa
ll

s
i
=
j

−
d
x
i
∧
d
x
j
,

fa
ll

s
i
≠
j

b
.)

F
a
ll

:
O

.B
.d

.A
.
ω
=
a
J
d
x
J
,J
∈
G
(k
)
=⇒

ω
=
a
j
∧
d
x
J

d
a
n

n
fo

lg
t

m
it

d
er

P
ro

d
u

k
tr

eg
el

d
ω
=
d
a
J
∧
d
x
J
+
(−
1
)0
a
J
d
(d
x
J
)

︸
︷︷

︸
=
0

1
1
2

∣ ∣ ∣ ∣ ∣

F
u

n
k

t
io

n
e
n

t
h

e
o

r
ie

∣ ∣ ∣ ∣ ∣
1

7
.)

∣ ∣ ∣ ∣ ∣∫ ϕ
◦γ
n

f
(z
)

d
z

∣ ∣ ∣ ∣ ∣
≤

∣ ∣ ∣ ∣ ∣ ∣ ∣ ∣∫ ϕ
◦γ
n

( f
(z

0
)
+
f
′ (
z
0
)(
z
−
z
0
))

︸
︷︷

︸
B
es

it
z
t

St
am

m
fu

n
k
ti

o
n

d
z

∣ ∣ ∣ ∣ ∣ ∣ ∣ ∣
︸

︷︷
︸

=
0

d
a
ϕ
◦
γ
n

g
es

ch
lo

ss
en

+
∣ ∣ ∣ ∣ ∣∫ ϕ

◦γ
n

r
(z
,z
0
)

d
z

∣ ∣ ∣ ∣ ∣

≤
L
(ϕ

◦
γ
n
)

m
a
x

z
∈

B
il

d
(ϕ
◦γ
n
)
|r
(z
,z

0
)|

≤
∫
|(
ϕ
◦
γ
n
)′
(t
)|

d
t

m
a
x

z
∈

B
il

d
(ϕ
◦γ
n
)
|r
(z
,z

0
)|

≤
∫
|ϕ

′ (
γ
n
(t
))
||
γ
′ n
(t
)|

d
t

m
a
x

z
∈

B
il

d
(ϕ
◦γ
n
)
|r
(z
,z

0
)|

≤
c
·L
(γ
n
)

m
a
x

z
∈

B
il

d
(ϕ
◦γ
n
)
|r
(z
,z
0
)|

≤
c 2
n
L
(γ

0
)

m
a
x

z
∈

B
il

d
(ϕ
◦γ
n
)
|r
(z
,z

0
)|

6
. ≤
c 2
n
L
(γ

0
)
ε 2
n
L
(γ

0
)

3
.
=⇒

∣ ∣ ∣ ∣ ∣∫ ϕ
◦γ
0

f
(z
)

d
z

∣ ∣ ∣ ∣ ∣
≤
4
n

∣ ∣ ∣ ∣ ∣∫ ϕ
◦γ
n

f
(z
)

d
z

∣ ∣ ∣ ∣ ∣
≤
c
ε
L
(γ

0
)2

fü
r

je
d

es
ε
>
0

=⇒
∫ ϕ

◦γ
n

f
(z
)

d
z
=
0

�

2
.5

F
o
lg

er
u

n
g

Se
i
O
⊆
C

o
ff

en
,
f

:
O
→
C

d
iff

er
en

z
ie

rb
a
r,
γ
1
∼
γ
2

in
O

.
D

a
n

n
∫ γ

1

f
(z
)

d
z
=
∫ γ

2

f
(z
)

d
z

B
e
w

e
is

Se
i
Φ

d
ie

H
o
m

o
to

p
ie

,
in

sb
es

o
n

d
er

e

Φ
(t
,0
)
=
γ
1
(t
)
,
Φ
(t
,1
)
=
γ
2
(t
)

Φ
∈
C
1
([
0
,1
]
×
[0
,1
]
→
O
)

Se
tz

e
z
u

r
A

n
w

en
d

u
n

g
v
o
n

2
.4
R
≔
[0
,1
]
×
[0
,1
],
ϕ
≔
Φ

.

F
a
ll

1
:
Φ
(0
,1
)
=
Φ
(0
,0
)

fü
r
0
≤
s
≤
1

u
n

d
Φ
(1
,s
)
=
Φ
(1
,0
)

t

s

β
1

β
2

β
3

β
4

ϕ
=
Φ

O

ϕ
◦
β
4

ϕ
◦
β
2

b

b

γ
1
=
ϕ
◦
β
1

−
γ
2
=
ϕ
◦
β
3

∣ ∣ ∣ ∣ ∣
2
1



V
e
k

t
o

r
a

n
a

l
y

s
is

∣∣∣∣∣
2

8
.4

¸
B

eisp
iel

1
.)

Sei
O
≔
R
n
,
ω
≔
f
∈
C
1(
R
n
→
R
),

d
a
n

n
ist

d
ω
=

n∑i=
1 (∂

x
i f
)d
x
i

Sei
S
=
φ
([a
,b
])

ein
e
1

-d
im

en
sio

n
a
le
C
1-M

a
n

n
ig

fa
ltig

k
eit

(v
erg

leich
e

6
.7),

d
a
n

n

ist

d
ω
(S
)=

∫

y
∈
[a
,b
] (

n∑i=
1 (∂

x
i f
)(φ

(y
))

d
et(

∂
φ
i

∂
y
)

︸
︷︷

︸
=
∂
φ
i

∂
y

)

︸
︷︷

︸
=

d
(f◦
φ
)

y

d
y

=
f
(φ
(b
))−

f
(φ
(a
))

u
n

d
fü

r
d

en
R

a
n

d
,
a
lso

d
er
0

-d
im

en
sio

n
a
len

M
a
n

n
ig

fa
ltig

k
eit
S̃
=
{φ
(a
),φ

(b
)}

ω
(S̃
)=

f
(φ
(a
))+

f
(φ
(b
))

2
.)

Sei
O
≔
R
3,V

∈
C
1(
R
3→

R
3)

u
n

d

ω
=
V
1 d
x
2 ∧

d
x
3 +
V
2 d
x
3 ∧

d
x
1 +
V
3 d
x
1 ∧

d
x
2

=
V
1 d
x
2 ∧

d
x
3 −
V
2 d
x
3 ∧

d
x
1 −
V
3 d
x
1 ∧

d
x
2

A
u

s
7.5

w
issen

w
ir

ω
(S
)=

∫

S 〈V
,n

0 〉
d
V
(
2
)

a
lso

d
ω
=

d
V
1 ∧

d
x
2 ∧

d
x
3 −

V
2 ∧

d
x
1 ∧

d
x
3 +

d
V
3 ∧

d
x
1 ∧

d
x
2

=
(∂
x
1 V

1 )d
x
1 ∧

d
x
2 ∧

d
x
3 −
(∂
x
2 V

2 )d
x
2 ∧

d
x
1 ∧

d
x
3 +
(∂
x
3 V

3 )d
x
3 ∧

d
x
1 ∧

d
x
2

=
(∂
x
1 V

1 +
∂
x
2 V

2 +
∂
x
3 V

3 )
︸

︷︷
︸

=
d

ivV

d
x
1 ∧

d
x
2 ∧

d
x
3

F
ü

r
ein

e
3

-d
im

en
sio

n
a
le,k

o
m

p
a
k
te,

o
rien

tierte
M

a
n

n
ig

fa
ltig

k
eit
S
=
φ
(K

(
3
)

1
(
0
))

d
ω
(S
)=

∫

S
d
ω
=
∫

K
(
3
)

1
(
0
) d

iv
V
(φ
(y
))

d
et(

∂
φ
∂
y
)d
y

=
±

∫

S=
φ
(K
(
3
)

1
(
0
))

d
iv
V
(x
)d
x

µ

8
.5

S
a
tz

1
.)d
(ω

1 +
ω
2 )=

d
ω
1 +

d
ω
2

d
(c
ω
)=

c
d
ω

∣∣∣∣∣
1
1
1

1
.2

∣∣∣∣∣
H

o
l
o

m
o

r
p
h

ie
u

n
d

A
n

a
l
y

t
iz

it
ä

t

2
.4
=⇒

∫

ϕ
◦
β
1 =
γ
1

f
(z
)

d
z
+
∫

ϕ
◦
β
2

f
(z
)

d
z

︸
︷︷

︸
=
0
,
d

a
ϕ
◦
β
2 =

co
n

st. +
∫

ϕ
◦
β
3 =
−
γ
2

f
(z
)

d
z

︸
︷︷

︸
=
−
∫γ
2
f
(z
)

d
z

+
∫

ϕ
◦
β
4

f
(z
)

d
z

︸
︷︷

︸
=
0
,
d

a
ϕ
◦
β
4 =

co
n

st. =
0

=⇒
∫

γ
1

f
(z
)

d
z
=
∫

γ
2

f
(z
)

d
z

F
a
ll

2
:
Φ
(
0
,s)=

Φ
(
1
,s)

fü
r
0
≤
s
≤
t

t

s

β
1

β
2

β
3

β
4

ϕ
=
Φ

O

t
=
0

ϕ
◦
β
1

ϕ
◦
β
4

−
γ
2 =

ϕ
◦
β
3

γ
1 =

ϕ
◦
β
1

2
.4
=⇒

∫

ϕ
◦
β
1 =
γ
1

f
(z
)

d
z
+
∫

ϕ
◦
β
2

f
(z
)

d
z
+
∫

ϕ
◦
β
3 =
−
γ
2

f
(z
)

d
z

︸
︷︷

︸
=
−
∫γ
2
f
(z
)

d
z

+
∫

ϕ
◦
β
4 =
−
ϕ
◦
β
2

f
(z
)

d
z
=
0

=⇒
∫

γ
1

f
(z
)

d
z
=
∫

γ
2

f
(z
)

d
z

�

T
e
il

b
e
w

e
is

2
.2

i.
=⇒

ii.:
f

d
iff

eren
z
ierb

a
r
=⇒
f

stetig
,
b

en
u

tz
e

2
.5

ii.
=⇒

iii.:
γ

n
u

llh
o
m

o
to

p
=⇒
γ
∼
γ̃

,
d

a
γ̃
=

co
n

st.,
u

n
d

a
u

s
2
.5

fo
lg

t
∫

γ
f
(z
)

d
z
=
∫

γ̃
f
(z
)

d
z
=
0
,

d
a
γ̃
=

co
n

st.
(In

teg
ra

l
ü

b
er

P
u

n
k
t

ist
0

)
�

2
.6

C
a
u

c
h

y
-In

te
g
ra

lfo
rm

e
l

fü
r

d
ie

K
re

is
s
c
h

e
ib

e
K

reissch
eib

e:
S
ei
O
⊆
C

o
ff

en
,
f

:
O
→
C

d
iff

eren
zierb

a
r,
z
0 ∈

O
,
r
>
0

m
it
K
r (z

0 )⊆
O

.
D

a
n

n
g
ilt

f
(w
)=

1

2
π

i ∫

|z−
z
0 |=

r

f
(z
)

z
−
w

d
z
,

fü
r
|w

−
z
0 |
<
r

V
erein

b
a

ru
n

g
:

D
a

s
In

teg
ra

l
ist

zu
v
ersteh

en
lä

n
g
s

d
er

K
u

rv
e
γ

:
[
0
,
1
]
→
O

:
t
֏
z
0 +

r
e

i2
π
t.

In
sb

eso
n

d
ere:

Ist
f
(z
)

a
u

f
d

em
K

reisra
n

d
b
ek

a
n

n
t,

d
a

n
n

a
u

ch
im

K
reisin

n
eren

.

2
2

∣∣∣∣∣



2
.8

∣ ∣ ∣ ∣ ∣
R

e
c

h
n

e
n

m
it

D
if

f
e
r

e
n

t
ia

l
f
o

r
m

e
n

2
.8

R
e
c
h

n
e
n

m
it

D
iff

e
re

n
ti

a
lf

o
rm

e
n

8
.1

M
u

lt
ip

li
k

a
ti

o
n

1
.)

S
in

d
k
,l
≥
1

u
n

d
k
+
l
≤
n

u
n

d

ω
1
=

∑

I∈
G
(k
)

a
I
d
x
I
,

ω
2
=

∑

J
∈
G
(l
)

b
J
d
x
J

so
is

t

ω
1
∧
ω
2
≔

∑

I∈
G
(k
)

∑

J
∈
G
(l
)

(a
I
b
J
)

d
x
I
∧

d
x
J

︸
︷︷

︸
d
x
i 1
∧
··
·∧

d
x
i k
∧

d
x
j 1
∧

d
x
j l

ei
n

e
k
+
l-

F
o
rm

,
d

a
s

P
ro

d
u

k
t

v
o
n
ω
1

u
n

d
ω
2
.

2
.)

Im
F
a

ll
k
=
0

,
ω
1
=
f

d
efi

n
ie

re
n

w
ir

ω
1
∧
ω
2
≔

∑

J
∈
G
(l
)

(f
·b

J
)d
x
J

⋊

8
.2

S
a
tz

E
s

g
el

te
n

D
is

tr
ib

u
ti

v
-

u
n

d
A

ss
o
zi

a
ti

v
g
es

et
z:

(ω
1
+
ω
2
)
∧
ω
3
=
ω
1
∧
ω
3
+
ω
2
∧
ω
3

ω
1
∧
(ω

2
+
ω
3
)
=
ω
1
∧
ω
2
+
ω
1
∧
ω
3

ω
1
∧
(ω

2
+
ω
3
)
=
(ω

1
∧
ω
2
)
∧
ω
3

⋊

8
.3

D
iff

e
re

n
ti

a
ti

o
n

1
.)

F
a

ll
s
ω
=
f

ei
n

e
0

-F
o
rm

d
er

K
la

ss
e
C
1

in
O
y

is
t,

d
a

n
n

h
ei

ß
t

d
ie

1
-F

o
rm

d
ω
≔

d
f
≔

n ∑ i=
1

(∂
x
i
f
)d
x
i

h
ei

ß
t

A
b
le

it
u

n
g

v
o
n
ω

.

2
.)

F
a

ll
s
k
≥
1

u
n

d
ω
=
∑
j
∈
G
(k
)
a
J
d
x
J

ei
n

e
k

-F
o
rm

d
er

K
la

ss
e
C
1

is
t,

h
ei

ß
t

d
ie
(k
+

1
)-

F
o
rm d
ω
≕

∑

J
∈
G
(k
)

d
a
J
∧

d
x
J

=
∑

J
∈
G
(k
)

n ∑ i=
1

(∂
x
i
a
J
)d
x
i
∧

d
x
J

h
ei

ß
t

A
b
le

it
u

n
g

v
o
n
ω

.

In
sb

es
o
n

d
er

e
is

t
a

ls
o

fü
r

ei
n

e
k

-F
o
rm
ω

d
er

K
la

ss
e
C
m

d
ie

A
b
le

it
u

n
g

d
ω

ei
n

e
(k
+
1
)-

F
o
rm

d
er

K
la

ss
e
C
m
−
1
.

⋊

1
1
0

∣ ∣ ∣ ∣ ∣

F
u

n
k

t
io

n
e
n

t
h

e
o

r
ie

∣ ∣ ∣ ∣ ∣
1

B
e
w

e
is

γ
ε
(t
)
≔
w
+
ε

e2
π

it
,
0
≤
t
≤
1

b z
0

b
w

γ
ε

γ

|z
−
z
0
|=
r

O
ff

en
si

ch
tl

ic
h

:
γ
∼
γ
ε

in
O
\{
w
}

u
n

d
f
(z
)/
(z
−
w
)

is
t

d
iff

er
en

z
ie

rb
a
r

in
O
\{
w
}.

2
.4 =⇒
∫ |z

−
z
0
|=
r

f
(z
)

z
−
w

d
z
=
∫ γ

ε

f
(z
)

z
−
w

d
z

=
∫ γ

ε

f
(z
)
−
f
(w
)

z
−
w

︸
︷︷

︸
|·
|≤
c
,
w

ei
l
d

iff
b
ar

d
z

︸
︷︷

︸
|·
|≤
c
L
(γ
ε
)=
c
2
π
ε
→
0

fü
r
ε
↓0

+
f
(w
)

∫ γ
ε

1

z
−
w

d
z

︸
︷︷

︸
=
2
π

i

ε
↓0 =⇒

∫ |z
−
z
0
|=
r

f
(z
)

z
−
w

d
z
=
2
π

if
(w
)

�

2
.7

P
o
te

n
z
re

ih
e
n

e
n

tw
ic

k
lu

n
g
s
s
a
tz

S
ei
O
⊆
C

o
ff

en
,
f

:
O
→
C

d
iff

er
en

zi
er

b
a

r,
z
0
∈
O

,

K
r
(z

0
)
⊆
O

.
D

a
n

n
g
ib

t
es

ei
n

e
F
o
lg

e
(a
n
)
∈
C

m
it

f
(z
)
=

∞ ∑ n
=
0

a
n
(z
−
z
0
)n
,

fü
r
|z
−
z
0
|<
r

B
e
w

e
is

Se
i
w
∈
K
r
(z

0
)

f
(w
)

2
.6 =

1

2
π

i

∫ |z
−
z
0
|=
r

f
(z
)

z
−
w

d
z

=
1

2
π

i

∫ |z
−
z
0
|=
r
f
(z
)

1

z
−
z
0
−
(w

−
z
0
)

d
z

=
1

2
π

i

∫ |z
−
z
0
|=
r
f
(z
)

1

z
−
z
0

1

1
−
w
−
z
0

z
−
z
0

d
z

=
1

2
π

i

∫ |z
−
z
0
|=
r
f
(z
)

1

z
−
z
0

∞ ∑ n
=
0

( w
−
z
0

z
−
z
0

) n
d
z

B
em

er
k
u

n
g
:

D
ie

g
eo

m
et

ri
sc

h
e

R
ei

h
e

k
o
n

v
er

g
ie

rt
,
w

ei
l
∣ ∣ ∣w

−
z
0

z
−
z
0

∣ ∣ ∣
=

|w
−
z
0
|

r
<
1

.

∞ ∑ n
=
0

( |
w
−
z
0
|

r

) n
k
o
n

v
er

g
en

t

W
ei

er
st

ra
ß

=⇒ 1
.1

5
R

ei
h

e
g
le

ic
h

m
ä
ß

ig
k
o
n

v
er

g
en

t
b

ez
ü

g
li

ch
z

∣ ∣ ∣ ∣ ∣
2
3



V
e
k

t
o

r
a

n
a

l
y

s
is

∣∣∣∣∣
2

B
e
w

e
is

1
.)

A
n

n
:
ω
=
0

,
a
b

er
a
I
0
≠
0

fü
r

m
in

d
esten

s
ein

I
0
∈
G
(k
).

Sei
x
0
∈
O

m
it

a
I
0 (x

0 )
≠
0

,
o
.B

.d
.A

.
a
I
0 (x

0 )
>
0

.
W

ä
h

le
δ
>
0

m
it

a
I
0 (x
)≥

12
a
I
0 (x

0 )
>
0

fü
r
x
∈
K
δ (x

0 ),K
δ (x

0 )⊆
O

W
ä
h

le
D
≔
K
(k
)

1
(
0
).

ϕ
(y
)≔

x
0 +
δ

k
∑ℓ=
1

y
ℓ e
j
ℓ

w
o
b

ei
I
0
=
{j
1 ,...,j

k }
u

n
d
e
j
k
=
(
0
,...,

1
,...,

0
) ⊤

.
D

a
n

n
ist
ϕ
(D
)

ein
e

k
o
m

p
a
k
te

o
rien

tierb
a
re
C
∞

-M
a
n

n
ig

fa
ltig

k
eit,d

im
k

=⇒
ω
(ϕ
(D
))

6
.7
=
∫

D

∑I∈
G
(k
) a
I (ϕ

(y
))

d
et (

∂
ϕ
I

∂
y

)
d
y

Sei
I∈

G
(k
),
I
≠
I
0 ,
I=

(i
1 ,...,i

k )

=⇒
d

et (
∂
ϕ
I

∂
y

)
=

d
et (

∂
(ϕ

i
1 ,...,ϕ

ik )

∂
y

)

ϕ
(y
)=

x
0 +
δ
(y

1 e
j
1 +
y
2 e
j
2 +
...+

y
k e
j
k )

=⇒
∂
ϕ

∂
y
ℓ
=
δ
e
j
ℓ
,

in
sb

eso
n

d
ere

∂
ϕ

∂
y
ℓ
=


δ
i=
j
ℓ

0
so

n
st

=⇒
d

et 

∂
y
1 ϕ

i
1
...

∂
y
k ϕ

i
1

...
...

∂
y
1 ϕ

ik
...

∂
y
k ϕ

ik 
=
0

A
u

ß
erd

em

d
et (

∂
ϕ
I
0

∂
y

)
=

d
et 

δ
0

...
0

0
δ

...
0

...
...

...

0
...

0
δ 

=
δ
n

=⇒
ω
(ϕ
(D
))=

0
+
...+

0
+
∫

D
a
I
0 (ϕ

(y
))·

δ
n

d
y
≥
12
a
I
0 (x

0 )δ
n ∫

D
1

d
y
>
0

֘
ω
(S
)=

0
fü

r
a
lle
S

.

2
.)

D
ie

E
in

d
eu

tig
k
eit

fo
lg

t
a
u

s
1.).

E
x
isten

z
:

F
o
rm

e
a
lle

Su
m

m
a
n

d
en

d
x
i
1 ,...,d

x
ik
=

(−
1
)d
x
I ,
I∈

G
(k
)

u
m

u
n

d
fa

sse
g
leich

e
d
x
I

z
u

sa
m

m
en

.
�

∣∣∣∣∣
1
0

9

1
.2

∣∣∣∣∣
H

o
l
o

m
o

r
p
h

ie
u

n
d

A
n

a
l
y

t
iz

it
ä

t

R
eih

e
u

n
d

In
teg

ra
l

v
erta

u
sch

en

=
∞∑n
=
0

1

2
π

i ∫

|z−
z
0 |=

r

f
(z
)

(z
−
z
0 )
n
+
1

d
z

︸
︷︷

︸
a
n

( w
−
z
0 )
n

�

2
.8

F
o
lg

eru
n

g
U

n
ter

d
iesen

V
o
ra

u
ssetz

u
n

g
en

g
ilt

fü
r

d
en

K
o
n

v
erg

en
z
ra

d
iu

s
R

d
er

P
o
-

ten
z
reih

e

R
≥

su
p{r

>
0

:
K
r (z

0 )⊆
O
}

⊸

2
.9

¸
B

eisp
iel

O
=
C
\{±

i},
f
(z
)=

1

1
+
z
2

R
e

Im1

−
1

|z
0 −

i|

|z
0 +

i| z
0

bb

b

E
n

tw
ick

le
f

u
m
z
0

in
ein

e
P
o
ten

z
reih

e
m

it
K

o
n

v
erg

en
z
ra

d
iu

s
R

.
A

u
s

2
.8

fo
lg

t

R
≥

m
in{|z

0 +
i|,|z

0 −
i|}

D
a
|f
(z
)|→

∞
fü

r
z
→
±

i
k
a
n

n
d

ie
P
o
ten

z
reih

e
in
z
=
±

i
n

ich
t

k
o
n

v
erg

ieren
.

=⇒
R
=

m
in{|z

0 +
i|,|z

0 −
i|}

µ

2
.1

0
F
o
lg

eru
n

g
1
.)

a
n
=

1

2
π

i ∫

|z−
z
0 |=

r

f
(z
)

(z
−
z
0 )
n
+
1

d
z

fü
r

d
ie
a
n

in
2
.7

2
.)

f
(z
)=

∞∑n
=
0

a
n
(z
−
z
0 )
n

Ü
b
u

n
g

=⇒
a
n
=
f
(n
)(z

0 )

n
!

=⇒
f
(n
)(z

0 )=
n

!

2
π

i ∫

|z−
z
0 |=

r

f
(z
)

(z
−
z
0 )
n
+
1

d
z

A
u

f
ein

er
K

reissch
eib

e
u

m
z
0

g
ilt

a
n

a
lo

g
z
u

r
g
ew

ö
h

n
lich

en
C

a
u

ch
y
-In

teg
ra

lfo
rm

el

(2
.6

)
so

g
a
r

a
llg

em
ein

er:

f
(n
)(w

)=
n

!

2
π

i ∫

|z−
z
0 |=

r

f
(z
)

(z
−
w
)
n
+
1

d
z

|w
−
z
0 |
<
r

(V
erw

en
d

e
d

a
z
u
z
0

:=
w

u
n

d
r

:=
|w

−
z
0 |,

so
w

ie
d

ie
W

eg
h

o
m

o
to

p
ie

b
eid

er

K
u

rv
en

a
u

f
d

er
K

reissch
eib

e)
M

a
n

n
en

n
t

d
iese

F
o
rm

a
u

ch
E
rw

eiterte
C

a
u

ch
y
’sch

e
In

teg
ra

lfo
rm

el .
⊸

2
4

∣∣∣∣∣



2
.7

∣ ∣ ∣ ∣ ∣
D

if
f
e
r

e
n

t
ia

l
f
o

r
m

e
n

1
.)

F
a
ll

s
ω
=
a
(x
)

d
x
i 1
∧
..
.∧

d
x
i k

u
n

d
i j
=
i ℓ

fü
r

ei
n

P
a
a
r
(j
,ℓ
)

m
it
j
≠
ℓ

.
D

a
n

n
is

t

ω
=
0

.
In

sb
es

o
n

d
er

e
d
x
i
∧

d
x
i
=
0

.

2
.)

d
x
i 1
∧
..
.∧

d
x
i j
∧
..
.∧

d
x
i ℓ
∧
..
.∧

d
x
i k

=
−

d
x
i 1
∧
..
.∧

d
x
i ℓ
∧
..
.∧

d
x
i j
∧
..
.∧

d
x
i k

B
e
w

e
is

1
.)

Si
eh

t
m

a
n

d
ir

ek
t

a
u

s

d
et

(
∂
(ϕ

i 1
,.
..
,ϕ

i k
)

∂
y

)
=
0

w
o
b

ei
d

ie
Sp

a
lt

en
i j

u
n

d
i ℓ

g
le

ic
h

si
n

d
.

2
.)

F
o
lg

t
a
u

s:
V

er
ta

u
sc

h
t

m
a
n

in
d

er
M

a
tr

ix
A

z
w

ei
Sp

a
lt

en
,

so
w

ir
d

d
et
A

m
it
−
1

m
u

lt
ip

li
z
ie

rt
.

�

7
.8

L
in

ea
re

S
tr

u
k
tu

r:
F
ü

r
k

-F
o
rm

en
ω
1
,ω

2
u

n
d
c
1
,c
2
∈
R

is
t

(c
1
ω
1
+
c
2
ω
2
)(
S
)
=
∫ S
(c
1
ω
1
+
c
2
ω
2
)

≔
c
1

∫ S
ω
1
+
c
2

∫ S
ω
2
=
c
1
ω
1
(S
)
+
c
2
ω
2
(S
)

⊸

7
.9

¸
B

ei
sp

ie
l
ω
=
1
·d
x
1
∧

d
x
2
+
1
·d
x
2
∧

d
x
1
=⇒
ω
=
0

.
µ

7
.1

0
D

e
fi

n
it

io
n

E
s

se
i
I
=
(i
1
..
.,
i k
)

m
it
1
≤
i 1
<
i 2
<
..
.
<
i k
≤
n

.D
a

n
n

h
ei

ß
t
I

w
a

ch
se

n
d

er

In
d

ex
.
W

ir
se

tz
en

G
≔
{I

:I
w

a
ch

se
n

d
er

In
d

ex
d

er
L
ä

n
g
e
k
}

d
x
I
≔

d
x
i 1
∧
..
.∧

d
x
i k
,

m
it
I
=
(i
1
,.
..
,i
k
)

d
x
I

m
it
I
∈
G
(k
)

h
ei

ß
t
k

-G
ru

n
d

fo
rm

im
R
n
.

⋊

7
.1

1
S
a
tz

1
.)

Is
t

ω
=

∑

I∈
G
(k
)

a
I
(x
)

d
x
I
=
0

so
fo

lg
t
a
I
=
0

fü
r
I
∈
G
(k
)
.

2
.)

Je
d

e
k

-F
o
rm
ω

in
O

b
es

it
zt

ei
n

e
ei

n
d

eu
ti

g
e

D
a

rs
te

ll
u

n
g

ω
=

∑

I∈
G
(k
)

a
I
d
x
I

d
.h

.
(a
I

:
I
∈
G
(k
)
)

si
n

d
d

ie
( n k
)

K
o
o
rd

in
a

te
n

v
o
n
ω

.
D

ie
A

b
b
il
d

u
n

g

ω
֏
(a
I

:I
∈
G
(k
)
)

m
it
ω
=
∑
a
I
d
x
I

is
t

b
ij

ek
ti

v
u

n
d

li
n

ea
r.

1
0

8

∣ ∣ ∣ ∣ ∣

F
u

n
k

t
io

n
e
n

t
h

e
o

r
ie

∣ ∣ ∣ ∣ ∣
1

2
.1

1
D

e
fi

n
it

io
n

Is
t
f

:
C
→
C

d
iff

er
en

zi
er

b
a

r,
so

h
ei

ß
t
f

g
a

n
ze

F
u

n
k
ti

o
n

.
D

a
n

n
g
il
t

m
it

b
el

ie
b
ig

em
z
0
∈
C

f
(z
)
=

∞ ∑ n
=
0

a
n
(z
−
z
0
)n

m
it

K
o
n

v
er

g
en

zr
a

d
iu

s
R
=
∞

,
a
n

g
eg

eb
en

d
u

rc
h

2
.1

0
⋊

2
.1

2
¸

B
ei

sp
ie

l
e(
·)

,
P
o
ly

n
o
m

fu
n

k
ti

o
n

en
,
si

n
,
co

s
si

n
d

g
a
n

z
.

µ

T
e
il

b
e
w

e
is

2
.2

i.
=⇒

iv
.

z
0
∈
O
,
O

o
ff

en

=⇒
∃
r
>
0

:
K
r
(z

0
)
⊆
O

=⇒
K
r
/
2
(z

0
)
⊆
K
r
(z

0
)
⊆
O

2
.7 =⇒

iv
.
m

it
R
≥
r 2

iv
.
=⇒

v
.:

1
.3

6

v
.
=⇒

i.
:
o
ff

en
si

ch
tl

ic
h

�

2
.1

3
C

a
u

c
h

y
-A

b
s
c
h

ä
tz

u
n

g
fü

r
T

a
y

lo
r-

K
o
e
ffi

z
ie

n
te

n
S
ei
O
⊆
C

o
ff

en
,
f

:
O
→
C

d
iff

er
en

-

zi
er

b
a

r,
K
r
(z

0
)
⊆
O

,
|f
(z
)|
≤
M

a
u

f
|z
−
z
0
|=
r

u
n

d

f
(z
)
=

∞ ∑ n
=
0

a
n
(z
−
z
0
)n
,

fü
r
|z
−
z
0
|<
r

D
a

n
n
∣ ∣ ∣ ∣ ∣f

(n
)
(z

0
)

n
!

∣ ∣ ∣ ∣ ∣
=
|a
n
|≤

M r
n
,

fü
r
n
∈
N
0

B
e
w

e
is |a

n
|2

.1
0 =
∣ ∣ ∣ ∣ ∣
1

2
π

i

∫ |z
−
z
0
|=
r

f
(z
)

(z
−
z
0
)n
+
1

︸
︷︷

︸
|·
|≤

M

r
n
+
1

d
z

∣ ∣ ∣ ∣ ∣

1
.3

3 ≤
1

2
π

M

r
n
+
1
L
(|
z
−
z
0
|=
r
)

︸
︷︷

︸
2
π
r

=
M r
n

�

2
.1

4
S
a
tz

v
o
n

L
io

u
v

il
le

Je
d

e
g
a

n
ze

F
u

n
k
ti

o
n

,
d

ie
b
es

ch
rä

n
k
t

is
t,

is
t

k
o
n

st
a

n
t.

∣ ∣ ∣ ∣ ∣
2
5



V
e
k

t
o

r
a

n
a

l
y

s
is

∣∣∣∣∣
2

w
o
b
ei
n
0

d
er

N
o
rm

a
len

ein
h

eitsv
ek

to
r

ist.

=
N∑j=
1

∫

y
∈
K
(
2
)

1
(
0
)

∨
y
∈
K
(
2
)+

1
(
0
)

ψ
j (ϕ

j (y
)) (
V
1 (ϕ

j (y
))·

d
et (

∂
(ϕ

j
2 ,ϕ

j
3 )

∂
y

)

+
V
2 (ϕ

j (y
))·

d
et (

∂
(ϕ

j
3 ,ϕ

j
1 )

∂
y

)

+
V
3 (ϕ

j (y
))·

d
et (

∂
(ϕ

j
1 ,ϕ

j
2 )

∂
y

)
)

d
y

⋊

7
.4

D
e
fi

n
itio

n
S
ie
O
⊆
R
n

o
ff

en
.

E
in

e
D

iff
eren

tia
lfo

rm
in
O

o
d

er
k

-F
o
rm

in
O

ist
ein

e

A
b
b
ild

u
n

g

ω
: 
k

-d
im

.
k
o
m

p
a

k
ten

o
rien

tierb
a

ren

C
1-M

a
n

n
ig

fa
ltig

k
eiten

in
O


→
R

sy
m

b
o
lisch

g
eg

eb
en

d
u

rch

ω
=

n∑i
1 =
1

...
n∑ik =
1

a
i
1
,...,ik (x

)
d
x
i
1 ∧

d
x
i
2 ∧
...∧

d
x
ik

a
i
1
,...,ik ∈

C
(S
→
R
)

m
it

ω
(S
)≔

∫

S
ω
≔

N∑j=
1 ∫

D
j 

n∑i
1 =
1

...
n∑ik =
1 (ψ

j ·
a
i
1
,...,ik )(ϕ

j (y
)) 

·
d

et (
∂
(ϕ

j
i
1 ,...,ϕ

j
ik )

∂
y

)
d
y

D
j =

K
(k
)

1
(
0
)

o
d

er
ϕ
j =


ϕ
j
1

...
ϕ
jk 

.
E
in

e
0

-F
o
rm

in
O

ist
g
eg

eb
en

d
u

rch
a
∈
C
(O

→
R
)

u
n

d

ω
(S
)≔

N∑j=
1

a
(x
j )≕

∫

S
ω

ω
ist

v
o
n

d
er

K
la

sse
C
m

,
fa

lls
a
i
1
,...,ik

∈
C
m
(O

→
R
).

D
a

s
b
ed

eu
tet,

ω
ist

d
u

rch
V

o
rg

a
b
e

d
er
a
i
1
,...,ik

d
efi

n
iert.

⋊

7
.5

B
em

erk
u

n
g
:

D
ie

D
efi

n
itio

n
v
o
n
∫
S
ω

ist
u

n
a
b

h
ä
n

g
ig

v
o
m

A
tla

s
u

n
d

d
er

Z
erleg

u
n

g
d

er

E
in

s,
fa

lls
d

er
n

eu
e

A
tla

s
g
leich

o
rien

tiert
w

ie
d

er
u

rsp
rü

n
g
lich

e
ist.

⊸

7
.6

¸
B

eisp
iel

Seien
n
=
3

,
k
=
2

,
O
⊆
R
3,
V
∈
C
(O

→
R
3).

ω
≔
V
1 d
x
2 ∧

d
x
3 +
V
2 d
x
3 ∧

d
x
1 +
V
3 d
x
1 ∧

d
x
2
=⇒
ω
(S
)=

F
lu

ss
v
o
n

V
d

u
rch

Sµ

7
.7

E
ig

en
sch

a
ften

:
Sei
k
≥
2

.

∣∣∣∣∣
1
0

7

1
.2

∣∣∣∣∣
H

o
l
o

m
o

r
p
h

ie
u

n
d

A
n

a
l
y

t
iz

it
ä

t

B
e
w

e
is

A
u

s
2
.1

1

f
(z
)=

∞∑n
=
0

a
n
z
n
,

fü
r
z
∈
C

A
u

s
2
.1

3

|a
n |≤

Mr
n

w
o
b

ei|f
(z
)|≤

M
,
K
r (
0
)⊆

C

D
a
n

n
fo

lg
t

m
it
r
→
∞

=⇒
a
n
=
0
,

fü
r
n
=
1
,
2
,...

=⇒
f
(z
)=

a
0 +

0
,

fü
r
z
∈
C

�

2
.1

5
R

ie
m

a
n

n
s
c
h

e
r

H
e
b

b
a
rk

e
its

s
a
tz

S
ei
O
⊆
C

o
ff

en
,
z
0
∈
O

,
f

:
O
\
{z

0 }
→
C

d
iff

eren
-

zierb
a

r,
u

n
d

∃
r
>
0
∃
M
>
0

:|f
(z
)|≤

M
,

fü
r
0
<
|z
−
z
0 |
<
r

D
a

n
n

k
a

n
n
f

in
z
=
z
0

h
o
lo

m
o
rp

h
erg

ä
n

zt
w

erd
en

,
d

.h
.
es

existiert
a
∈
C

,
so

d
a

ss

f̃
:
O
→
C

:
z
֏


a

z
=
z
0

f
(z
)

so
n

st

d
iff

eren
zierb

a
r

ist.

B
e
w

e
is

Setz
e

g
(z
)≔


0

z
=
z
0

(z
−
z
0 )
2
f
(z
)

so
n

st

D
a
n

n
ist
g

in
O
\{z

0 }
d

iff
eren

z
ierb

a
r

u
n

d
a
u

ch
in
z
0

lim
z→
z
0
z
≠
z
0

g
(z
)−
g
(z

0 )

z
−
z
0

=
lim

z→
z
0
z
≠
z
0

(z
−
z
0 )

︸
︷︷

︸
→
0

b
esch

rän
k
t

︷ ︸︸︷
f
(z
)=

0

B
em

erk
u

n
g
:

B
esch

rä
n

k
te

F
o
lg

e
m

a
l
N

u
llfo

lg
e

erg
ib

t
N

u
llfo

lg
e

⊸

=⇒
g

d
iff

eren
z
ierb

a
r

in
O
,
g
(z

0 )=
g
′(z

0 )=
0

2
.2

,
i.
=⇒

iv.
=⇒

g
(z
)=

∞∑n
=
0

a
n
(z
−
z
0 )
n
,
|z
−
z
0 |≤

r

2
6

∣∣∣∣∣



2
.7

∣ ∣ ∣ ∣ ∣
D

if
f
e
r

e
n

t
ia

l
f
o

r
m

e
n

=
D

efi
n

it
io

n
d

es
In

te
g
ra

ls

∫ S
f

d
V
(k
)

m
it

H
il

fe
d

es
A

tl
a
s
Ã
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